Activity 2
Read the following passage about the impact of the Ryder Cup.


Choose one of the sentences below that you agree with and complete it by giving your reasons. 

	I think that the Ryder Cup will have a positive economic impact on Newport because,

	

	


	I think that the Ryder Cup will have a negative  economic impact on Newport because,

	

	


The 2010 Ryder Cup was held in Wales. The host city of Newport scored an economic hole-in-one.


An independent study estimates that the tournament will boost the Welsh economy by at least £73m, with much of that centred on Newport itself.


This figure includes everything from spectators spending money on accommodation and food and drink, to the funds invested in infrastructure improvement projects, Welsh firms supplying goods and services for the event, and the wider boost it will give to the Welsh tourism sector.


These include a multi-million pound improvement to Newport's city centre, and a year-long festival of arts and sports - both to increase the city's tourist appeal.








